
F
itt

in
g 

in
st

ru
ct

io
ns

M
ak

e:

Ty
pe

:

To
ua

re
g;

 2
00

2-
>

V
W

46
91



M16x120 (10.9) / 340 Nm

M12x1,5x70 (10.9) / 150Nm

M14x1,5x70 (10.9) / 240Nm

M12x1,5x70 (10.9) / 150Nm
M14x1,5x70 (10.9) / 240Nm

M12x1,5x70 (10.9) / 150Nm

M14x1,5x70 (10.9) / 240Nm

M12x1,5x70 (10.9) / 150Nm

M14x1,5x70 (10.9) / 240Nm

M12x90 (10.9) / 110Nm

ø25x15 L=28

ø25x15 L=28

ø25x15 L=28

ø25x15 L=28

Flange nut (10)

Flange nut (10)

Flange nut (10)

4691/4

4691/19

4691/19

9535417

4691/1

4691/19

469180

© 469170/15-11-2011MN/1



© 469170/15-11-2011MN/10

4691

(2x) M16x120 (10.9)

(8x) ø25x15 L=28

(8x) M12x1.5x70 (10.9)

(2x) M16 (self-locking
flange-nut) (10)  

© 469170/15-11-2011MN/2

100mm
240mmM

iddle bum
per

40mm

Underside bumper

Cut out

TEMPLATE: 4691
Place on outside bumper

RP

Ø10mm

Ø10mm

RP

-> 2010

(8x) M14

(8x) M12

(8x) M14x1.5x70 (10.9)

(3x) M12 (self-locking
flange-nut) (10)    

(3x) M12x90 (10.9)



tested
euro

Approved

Approved

Approvede11 00-6015

10

24

RAYMOND

kg

kg ?

140 kg

10.9

© 469170/15-11-2011MN/3

X

+

X
D

D-value

1000

9.81
kN

K  G

K  G

K  G

K  G
max max

maxmax

= 16,4

19

MODIFICATION?

94/20/EC

Couplingsclass: A50-X

18

© 469170/15-11-2011MN/8

10

9



© 469170/15-11-2011MN/7

68

MIDDLE BUMPER

80mm

190mm

Middle bumper

40mm

Underside bumper

Cut out

TEMPLATE: 3591

7

100mm
240mmM

iddle bum
per

40mm

Underside bumper

Cut out

TEMPLATE: 4691
Place on outside bumper

RP

Ø10mm

Ø10mm

RP

-> 2010

5b

(8x) M12

(8x) ø25x15 L=28

(8x) M12x1.5x70 (10.9)

4826/64826/5

4826/5

4826/4

4826/4

9550017

9550017

9530097

4826/23

4826/24

M12x1,5x40 (10.9) 90Nm

M10x30 (10.9) 65Nm

M12x40 (10.9) 110Nm

M8x30 (10.9) 40Nm

M12x1,5x40 (10.9) 90Nm

M12x40 (10.9) 110Nm

M8x30 (10.9) 40Nm

M10x30 (10.9) 65Nm

M12x1,5x40 (10.9) 90Nm

44

118

65

44

Ball area

M16x70 (8.8) 270Nm

Page1

Only for model 2005 ->
Only for the;->2010

HINWEISE:

* Die für das Fahrzeug zugelassene Anhängelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Änderungen des Fahrzeuggewichtes muβdie höchst-
zulässige Anhängelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.
Auskunft hierüber kann Ihr Fachhändler oder der TÜV geben.

* Elektrische Anlage gemäβStVZO anbringen.

© 469170/15-11-2011MN/4

0km

+
1000km



© 469170/15-11-2011MN/5

M16x120 (10.9)

(2x) M16x120 (10.9)

(2x) M16 (self-locking
flange-nut)

1

4826/6 4826/5

4826/5

4826/4

4826/4

9550017

9550017

9530097

4826/23

4826/24

M12x1,5x40 (10.9) 90Nm

M10x30 (10.9) 65Nm

M12x40 (10.9) 110Nm

M8x30 (10.9) 40Nm

M12x1,5x40 (10.9) 90Nm

M12x40 (10.9) 110Nm

M8x30 (10.9) 40Nm

M10x30 (10.9) 65Nm

M12x1,5x40 (10.9) 90Nm

44

118

65

44

Ball area

M16x70 (8.8) 270Nm

Page1

© 469170/15-11-2011MN/6

2

3

4

5a

(8x) M14

(8x) ø25x15 L=28

4826/6 4826/5

4826/5

4826/4

4826/4

9550017

9550017

9530097

4826/23

4826/24

M12x1,5x40 (10.9) 90Nm

M10x30 (10.9) 65Nm

M12x40 (10.9) 110Nm

M8x30 (10.9) 40Nm

M12x1,5x40 (10.9) 90Nm

M12x40 (10.9) 110Nm

M8x30 (10.9) 40Nm

M10x30 (10.9) 65Nm

M12x1,5x40 (10.9) 90Nm

44

118

65

44

Ball area

M16x70 (8.8) 270Nm

Page1

(8x) M14x1.5x70 (10.9)

Only for model 2002 -> 2004





100m
m

240m
m

Middle bumper

40m
m

U
nderside bum

per

C
ut out

TEM
PLATE: 4691

Place on outside bum
per

R
P

Ø
10m

m

Ø
10m

m R
P

O
n

ly fo
r th

e;->
2010



 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: large enough for 100% scale
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20110929123039
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     155
     228
     0
     Sufficient
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

    
   HistoryItem_V1
   InsertBlanks
        
     Where: after page 10
     Number of pages: 1
     same as current
      

        
     1
     1
     10
     547
     348
            
       CurrentAVDoc
          

     SameAsCur
     AfterNum
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

    
   HistoryItem_V1
   InsertBlanks
        
     Where: after page 10
     Number of pages: 1
     same as current
      

        
     1
     1
     10
     547
     348
            
       CurrentAVDoc
          

     SameAsCur
     AfterNum
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

    
   HistoryItem_V1
   InsertBlanks
        
     Where: after page 6
     Number of pages: 1
     same as current
      

        
     1
     1
     6
     547
     348
    
            
       CurrentAVDoc
          

     SameAsCur
     AfterNum
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





